= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

End suction centrifugal pumps in accordance with EN 733 (ex DIN 24255) made of stainless steel
AISI 304 (3 series) and AISI 316L (3L series), applications include water boosting, heating systems,
air-conditioning, washing systems and many other industrial applications.

WRAS approved pumps are available upon request.

SPECIFICATIONS TECHNICAL DATA
* Maximum working pressure: 10 bar ¢ Asincronous 2 and 4 poles motor
* Liquid temperature: from —10°C to +110°C * Insulation class F
« 110° C for H version « Protection degree IP55
* 1~230+10%

MATERIALS . . « 3-230/400V + 10% 50Hz up to 4kW included,
* Pump body, |mpeller_, casing cover and shaft in 400/690V +10% above

AISI 304 (3 series), in AISI 316L (3L series) « Thermal protection to be provided by the user

* Mechanical seal in carbon/ceramic/NBR

for standard version (3 series), in SiC/SiC/FPM (3L series)
* Mechanical seal in carbon/ceramic/Viton for H version
* Mechanical seal on SiC/SiC/FPM for HS version

Available in 4 different versions, 2 and 4 poles

3M monobloc with extended motor shaft
3LM
\
E 35 _ . .
monobloc with standard motor and flexible coupling
3LS
F ] 3P on basement with standard motor and flexible coupling
3LP
{ 3PF 3SF
bareshaft pump
3LPF 3LSF




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CHART at 2900 min* (according to ISO 9906 Annex A)

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700

1 Y U Y NN N N SN [ [N NOURN N (RN (N [ N I I |
T 1 |

1 T T 7 I T [ T T T I I
Imp.gp.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600

100
300
80
H A 250 K
[m) g == ~ [#]
60 . N S5 [~ 200
50— \
. —150
40 §
30— b ) £ 100
/ (3
J i
{ 75
20
15 — 50
/ L
/ 40
10
9 - 30
o] [
7 \ [
6 I{ 20
5 T 1

I I ] | ] 1 | I I
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000

Q {1/min]
[ T T T T T T 1 [ I T T 7 T T
6 7 B 910 12 14 161820 25 30 40 50 60 70 100 150
Q [m¥n]
PERFORMANCE TABLE
Pump type KW | HP | Absorbed Current (A) Q=Capacity
3(L)M Three-phase lmin | 0 | 200 | 150 | 200 | 300 | 333 | 360 | 400 | 450 | 500 | 600 | 700 | 800 11000 | 1200 | 1500 | 1800 | 1900 | 2000 | 2100 | 2200
aw | ww | sy wh [ 0T 6T 9l 2Tl aolalulanT3 sl 72790 T108l114l1207 126713
H=Total head
RABMIMW| 11 - 50 29 . 25| 21| 199|184 | 141 | 12
216015 (M)| 15 - 59 34 - 25| 28 | 65| 245|192 | 17
216022 (W)| 2.2 . 83 48 - 3 | B5| % | R|a|B
32-20013.0 30 - 118 68 - M0 | 4[5 | B -
3:20040 | 40 - 156 90 . 55 | 535| 52 | 495|435 | 405 | 38
32:20055 55 - . 18 68 705| 69 |675| 65 (583 - | - | - | -
32-20075 75 | 10 : 5 : 705 | 69 | 675| 65 | 583 [555( 53 | 49 | 4 | - | - | -
40125115 (M) 15 - 59 34 - 0| - | - | 19 [176| 17 165|157 | 145|132 03| 7
401252 (M) 2.2 - 83 48 - 5| - | - | 255 24 [285| 28 | 2| 2 |195]|164]| 13
40-160/3.0 30 - 18 68 . 31| - | - | 95| 25| o7 | 265|255 4 | 25| 0| 17
40160140 | 40 . 159 92 : 40 | - | - | 385|317 |3 [355|345] 33| 32|29 |55
40-20055 55 - - 11 64 a7 | - | - |45 44 | 43 | 425 41 [395] 38 | 35 | 31
40-200175 15 . - 151 87 5 | - | - | 57 |555| 55 | 545|535 |525| 51 |475| 4
40-200111 1 - - 200 116 ] - | - | 7|70 |7 |695]685(675| 66 | 63 | 59 | - | -
5012522 (V)| 2.2 . 83 48 W - | - - - - - |5 17| 163149134 17| 8 | -
50-125/3.0 30 - 118 68 - 2 - - - - -] - |05 20 |106|184] 17 |154|18] 8
50-125/40 | 40 - 159 92 - %5 - | - | - | - | - | - | % |55 5| 4 |25|05[179]| 1
50-160/5.5 55 - - 15 66 B - | - | - - -] - |3 [305]3 |85]2 |55 2|18
50-160/75 15 . : 155 90 o - | - | - | - | - | - |385]3 |35|3|3[385|3]2%
50-20019.2 92 . - 174 100 Bl - | - - | - | - - - | - | 50| 49 | 475 455|405 34
50-200/11 1 - - 20 127 59 | - | - | - - - - | - - | 56|55 | 54|52 |44
50-200/15 15 - - 313 180 - - - - -] - - -]71|6 |68]|66|6][5]|- |-
65-125/4.0 4 | 55 o 5 : 25| - | - - - - - -] - - |2 |194]|185]165|43|107] 7 | -
65-125/55 55 | 15 . - - Al -l - - - - B | up | B5| 25| 191|155 17| 104] -
65-125/75 75 | 10 . - - R - - - - - - - - |05 95| 29 | a7 | 45| 21 | 168|154 | 14
65-160/75 75 | 10 - - - R, -l - - - - 0| 9| 27| B85 5(175] 16 | 145 -
65-160/9.2 92 | 125 : : : %5 - | - | - | - | - - -] - - | - |45 3% |32 |25 % |a5| 0 |[186] 17| -
65-160/11 u | 5 . . - o5 - | - - - -] -] -] - - - |85 38| 3% | 3% |305|26 |45 B |u5| 0
65-160/15 5| 2 . - - Bl - o o - - 45| 45| 43| 41 |375(335| %2 [305] 29 |2
65-200/15 5| 2 - - - Sl - | - - - - - - - - - | 51| 50| 48 |455] 41|36 |34]|3R]3] -
65-2001185 | 185 | % : : - 605 - | - | - | - | - - - - - - |585|575|555| 53 | 49 | 4 | 425|405 39 | 3
65-200122 2 | N - . - 67| - | - | - |- |- |- |-|-| -] - |655| 65|63 |605|565]| 5 |505]485] 47 | 45
(M) Single-phase

64




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CHART at 1450 min* (according to ISO 9906 Annex A)

U.S.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350
I I I I T I O I T T B | [ |
T T T T T T T T T 1 T
Imp.g.p.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300
30
H B H
[m] 20— [ft]
[ 92-200/075 S g L B R B
S SSRE it 5
N < 2 -
15 N ~._5 1 } } } < S0
[ N N 6
32-200/0.55 LI T4 AR 22 L
). ~. LD, 7 40
32200 Ji 777270%/#\4 s N N
=-200/0.5 ™ =7 L) \
10 " L99R ~200 7 NN
9 3-160/4 ™~ ™N N’Z’-UF | ‘M\Q’P N 55\\/\ ‘?\v; Z] N L 30
.37 q N iy NN
: SR TN TN 223
T NN e T 27 1 INN " |25
32~ ™ TN, 7
7 ==2160/0.370 L ?% THEDN NN Ql
N N N TN X
6 o] ™ % )\ \T /5%5‘ i “N‘ﬂ/% & 20
. s [T e e N DN X
N 25 _TIN[J5N
™™ ”-J)\ 50 Y 2V L
N ( ‘ 4 s, 285, \ 6‘0\\ 7 15
4 7\ 2 H ™ o | ‘ Z \\
N TN .
N N 73 N
N\ Nz, \ e &
3 \\4’ | \\‘ ! ‘/Q) 10
% [N
ik
\ 2, 3
2 > v“,
/ [ i
1 /

50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500

Q [I/min]
[ T T T T T T T T T T T T T T T T T T
3 4 5 6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 Q[m’/h]
PERFORMANCE TABLE
Pump Type| kW HP Q= Capacity
limin 50| 100 | 160 | 200 | 250 | 300 | 350 | 400 | 500 | 600 | 650 | 800 | 950 | 1000 | 1050 | 1100 | 1200
3M mh 3 6 | 96 | 12 | 15 | 18 [ 20 [ 24 | 30 [ 3 | 39 | 4 | 5 [ 60 | 63 | 66 | 72
H= Total head
32-125/0.25 025 033 56 | 49 | 33
32-16000.37R 037 05 72 | 63 | 45
32-16010.37 037 05 87 | 8 | 67
32-2000055R 055 075 | 105 | 93 | 7
32-2000055 055 0,75 | u | 92
32-20000.75 0,75 1 173 | 165 | 146 - - - -
40-1250037R 037 05 |45 | 4 | 36| 3 | 23| 15
40-125/0.37 037 05 - | 62 | 57 | 52| 46 | 38 | 3
40-160/055R 055 0,75 | 72| 67 | 63 |57 | 5 | 43
40-1601055 055 0,75 - 85| 79 | 75 | 69 | 62 | 54
40-200/1.1R 11 15 - | 105 | 1201] 9 | 9 | 83
40-20011.1 11 15 - 127 | 123 | 19 | 12 | 104 | 94
40-20011.5 15 2 - 178 | 174 | 169 | 162 | 153 | 142 | - 5 5
50-125/0.55R 055 075 - . S| 49 | 47 | 44 | 42 | 38 | 3 2
50-125/0.55 055 075 : : - | 58 | 56 | 54 | 52 | 49 | 41 | 32
50-160/1.1R 11 15 - - 1Tl 75 | 72 | 69 | 65 | 56 | 45
50-160/1.1 11 15 - - - 9 | 88 | 85 | 82 | 78 | 69 | 58
50-200/1.5R 15 2 - . - | 121 | u8 | U5 | 11| 06| 95 | 8
50-200/1.5 15 2 - - - 13 | 127 | 123 | 19 | 15 | 105 | 91
50-20012.2 22 3 - . - |77 | 15 | 172 | 168 | 164 | 154 | 14 - . -
65-125/0.55 055 075 - - - - S| 48 | 46 | 44 | 40 | 35 | 32 | 23 | 14 | -
65-125/90.75 075 1 - - . . . 6 | 58 | 57 | 52 | 46 | 44 | 35 | 25 | 22 | -
65-125/1.1 11 15 - - ° : - | 72| 7 | 58 | 63 | 58 | 54 | 45 | 35 | 32 | 28
65-160/1.1 11 15 - - - - - - 81| 80 | 74 | 70 | 66 | 57 | 46 | 42 | 38 | -
65-16011.5 15 2 - - - - - 92| 9 | 85 | 8 | 77| 67 | 57 | 53 | 49 | 45 | -
65-16012.2 22 3 13 | 11 | 106 | 10 | 98 | 88 | 76 | 72 | 68 | 64 | 55
65-20002.2R 22 3 04 | 122 | 16 | 1 | 106 ] 93| 78| 73|68 | - -
65-200/2.2 22 3 139 | 137 | 130 | 124 | 12 | 108 | 93 | 88 | 83 | 78 | -
65-20013.0 3 4 158 | 156 | 1506 | 145 | 141 | 129 | 116 | 11 | 106 | 101 | 9

65




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 32 at 2900 min -
(according to 1ISO 9906 Annex A)

0 USgpm. 20 30 40 50 60 70 80 9 100 M0 120 130
} ] I L I l I 1 I 1 = L I l T I I I I l ll I 1
" 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
E - 250 E
pu g I
70— S
\\
60 ~~ /5*?\ - 200
T T A~
T— \
50 — 200/4 S 200
—+ <2 S - 150
o T T —— ~
o e R N .0
\\ %
30k S +— \\IQL:\‘\' —100
20 B i s 1 —
o ‘\
= ~
¥ 10
=
'_
(@]
— 0 0
0 100 200 300 400 Q [1/min]
[ I I I [ I | [ [ I [ I I I I 1
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[m3h]
g’ Ve 260/75
= 200/5.5 :
§ , | —160/2.2
§ O 1%5/1.1: | 160/1|.5
0 100 200 300 400 Q [I/min]
E 70 T /I T T T | |
S 125/11 160/2.2 T
= % 160,/1.5] 52? — —= 200//40 NPSH
/15 - = 200/7.5][m] [
4/ R LT —
>0 7 =F——1700/55 | 200/3.0 81»
7 BB /
40 5 612
/
i 2004~ "
. 30 = NPSH 125 ] e P
O | | — | ] 10
& —
Y 2 160 2+
-
L0

0 100 200 300 400 Q [I/min]




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 40 at 2900 min *
(according to ISO 9906 Annex A)

0 US.gpm. 50 100 150 200
| ] I ] |
! I T [
0 Imp.g.p.m. 50 100 150
E 80 - 260 =
T L i 240 T
2 == 200/11
S — 220
‘\
60 i - 200
RN N W —— 200& 180
\
50 e — 160
T T e —— \\
~—~1200/5 5 140
40 T T T ——— 7 ! : —
\\60 40 P — 120
30— l i~ — L 100
\
\&.& \\\ \‘ 60
<O( ‘\\ 1
Y10 — B/22_%
5’ - 20
S 0
0 200 400 600 Q [I/min]
[ I I [ I
0 10 20 30 40 Q [m3/n]
==,
. T ,200/7.5 |
200/114 — I/
& 200/5.57
= 125/2.2 | B :
B4 | — 160,/4.0°
e 125/1. —-\\?ﬁ }
% . 25/ 5 | l I i 160/3.0
0 200 400 600 Q [1/min]
— 80
1 I
— NPSH
70 125/2.2 N e = [;n] [#t]
" = - I ~ —
60 16 // = i ™~ 620
Q/Z)'O ] gz /// N 5
. 160/4.0 v 125/1'2 o0
. 200/5.5 e e — N .1,
2 200/7.54_L~200/11 — sl bl
O 1 5
b 200760 Ly
Ll 30

0 200 400 600 Q [1/min]




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 50 at 2900 min *
(according to ISO 9906 Annex A)

0 USgpm. 50 100 150 200 250 300 350
| ] | I I | | |
I I I T | I I
0 Imp.g.pm. 50 100 150 200 250 300
= % - 260 =
- — ] 240 T
0 T “@@ 220
— -
[ —
TIT=— 200/11 ~ 180
I I e s e e O S ' ~
50 =—=200/9.5 ~_ 160
—~—
w“ T~ ~ - 140
T T _lh-‘\ 75 . ‘\
— 0 7.5 \\ 120
30 T T TTTT— %\\\\ 100
—] 0/55 —~—— B
— \725% - .
20 T T — ’125' 5 T — ——
—t———L_L _1 — O T — \{ 60
. 1 T~
5 10 e e 40
T
N \‘
§ - 20
2 0
0 200 400 600 800 1000 1200 Q [1/min]
] [ I I I I I [ I
0 10 20 30 40 50 60 70 Q [m3/h]
— 18
= 1 T T
=3 p—— 200,15
12 — — 200/11—
. 200/9.2 ]
S 6 125/4.0+ 160,/7.5—
: 125/3.0 ; 2523 00/35—
| I
0 200 400 600 800 1000 1200 Q [1/min]
— 80 T
) 200/11_|
c . P T T T L1 —200/9.2
] ST ~ | wnesu
T N 125/40+ [m] (1)
60 160/754 0 |~ NN 8
1 1 ( 7 o Y =
160/5.5-1| o 125/2.2 55 /5 0N 5] L
> 200/15 =760 |5
Q 50 H i,
& NS I 200 T
S 2]
o -5
L 40

0 200 400 600 800 1000 1200 Q [1/min]




3-3BL SERIES

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 65 at 2000 min *

(according to ISO 9906 Annex A)

TOTAL HEAD

SHAFT POWER [kW]

n [%]

EFFICIENCY

60

50

40

30

20

85

70

55

40

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

&la,
‘L/(/,,
0 USgpm. 100 150 200 250 300 350 400 450 500 550 600 650
| | ] { | | ] I | ! | | | !
| T I T I I I ] T T I ]
0 Imp.g.p.m. 100 150 200 250 300 350 400 450 500 550
N T S U, S 220 &
L \I‘ 22 - 200
— "
e e ~ 200/735 < 180
T ! T > T~ 160
——— — T— 2, i I~
4 \\(Z)/{ \\\ ~
T— 16 L
i . \\f%S \\‘ \\\\ 140
o S S — ——— 6 ™~ \\ \ 120
— 0/77 \\\\
i i s O N ‘\\\% ~ — —100
——— 750/25 e S e O ™~
— L | [ —
e —_ [— 725/5 5 §\ S~ ™
\\\ 7 . \\ 60
\‘
T— 40
\\‘\ 2. 75
—~
- 20
0
0 500 1000 1500 2000 Q {1/min)
[ T I [ I I I I T I I T I I I 1
0 10 20 3 4 50 60 70 8 90 100 110 120 130 140 Q [m/h]
1 200/22
[ e 200/18.5
200/15 T 160/15
160/9.2 —— 160,/117
125/5.5_ 160/7.5
125/4.0———-—:‘#: 1125/7.5 I
|
0 500 1000 1500 2000 Q [1/min)
__L_200/15\ 16011 200/22 ]
Q\‘Q%S§§§§ /,200/18.5]
=,
160/7.5 ] OO [ et
160/9.2 1 N \\ (m] 1]
125/4.0 N\ 125/5.5[M25/7.57]
; 2001 9T X
L~ ! 23> j 620
i %’4/ 160/ 310
|
0 500 1000 1500 2000 Q [I/min]




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

3M-3S-3P 65 2Nl
PERFORMANCE CHART

U.S.g.p.m. 40 50 60 70 80 80100 120 140 160130200 250 300 350 400 500 600

1 1 1 I I I 1 11 1 |
T T T T T T T 17 T T T T7T T T T 1T T
Imp.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500

Range Enlargement

= EEN T 950 =
£ i N NEEN] N =
- i e = = SRR N AR i =R 1 -
60 e T 200
2 I
5 50 L
S (| -150
= 40
ML L
) it T 1
- ) T35, N\ I 11
30 o ~&35, N\ 100
H 3 4"0 1 U.S.gp.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350
) S\ T ] ] ] | | [ [ R | [
T T T T T T T UL T T T T T T T
i [-75 . Imp.g.p.m. 20 30 40 50 60 70 B0 90100 120 140 160180200 250 300
20—+ M
EE| H 75 H
15 [m] 20 [ft)
15 =~ al Sl -50
1 / | S
10 | | —s5. % 40
9 | : 160/2.2 & /qo‘,,,,,,
10— i N
8 ) L 25 o] 32 | 40 I 50 1 "‘e%% ee\}”” |50
7 4 . D)
\? 25
5 120 7 I | U i
I I [
6 & N 2
5 L[] ' & N\ 2
] \) &
80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 5 s L NN A
Q [1/min] Y M 40 . SN Lis
N ~ A
T T T T T T T T T 1T T T T T T 1 T ] 4 Y %
5 6 7 8910 12 14161820 25 30 40 50 60 70 100 0 N N &
0 [m¥h) s NG A L
I \e
=
2 Poles - 50 Hz | >
%
2 T
—5
1
50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500
Q [1/min]
I T T T T T T 1 T T LI T T T T T T
3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 Q[m z/h]

4 Poles - 50 Hz

APPLICATIONS
= Water supply for civil, agricultural and industrial systems e Cooling towers

» Pressure boosting * Swimming pools
« Fire-fighting systems * Washing systems
= Heating and air-conditioning systems * Emptying

* Irrigation

70




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

3M-3S-3P 65 @ EBARA Advanced Technology

: P
| G The hydro-forming process to
: P obtain the integrated volute is
- e N e patented. The volute offers higher
P =y \A/\[\ efficiency than circular casing
' and the absence of a circular
//%j 0 T welding guarantees a good cor-

rosion resistance.

Volute forming Vollute

Casing has been tested to a pres-
sure of 14 bar for a test sequence in
excess of 1 million cycles.

Hydraulically balanced impeller
- reducing axial thrust and

\ prolonging bearing life.

High efficiency impeller design - ‘
giving efficiencies up to 80%.
Bronze or AISI 316 impeller. _/r ‘ &l
|
|
I S N U J(F ,,,dz,), — A Stanc!ard DIN mechanical seal -
| \ allowing for a range of seal
‘ 7 I materials to suit the pumped
medium.
| !
|
Robust structural design - ‘ |
reducing the possible effects of 1 ‘
pipe strain and subsequent cas- "
ing deformation. I —

f

3 SERIES PERFORMANCE DATA “Back Pull Out” design - allowing for the removal of

Capacity up to 132 m*/h the motor/impeller assembly, whilst leaving the
Total head up to 72 m casing in situ.

Please contact our Sales Network for complete technical and performance data of the complete range (including 4 poles and 60 Hz versions).

71




3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 32 at 1450 min *
(according to ISO 9906 Annex A)

20

(m]

70
60
(%]
50
40
30

20

0 US.gp.m. 10 15 20 25 30 35 40 45 50
| | | | | | | | | | |
| I I I I [ I I I
0 Imp.g.p.m. 10 15 20 25 30 35 40
60
—2
- - 50
T~
\\‘
T — 40
n \\20\04%'\
; 200/0.557 — .,
—= 160,/0.37 ~~_ ~—__
I R T \
\M@ ™~ 20
—— — R R R W T T —
—125/005 T
\\ \ﬂ
T—
T 10
0
0 50 100 150 Q [1/min]
[ I I I I I I I I I I I 1
0 1 2 3 4 5 6 7 8 9 10 11 Q[m3h]
T -
200/0.75 S —— ©200,/0.557]
| | | | |
200/0.55R—_—— 160,/0.37 7]
190/0.37% ‘ 1125 0125—
- 25/0.
0 50 100 150 Q [1/min]
|
L — NPSH
‘125/‘0‘25‘ | | — I [m] [ft]
160/0.37 ;%a ey
160,/0.37R
‘ ; SN\E = 200 310
200/0.55R — -5
200,/0.55— NPSH =—=_—"T0 2|,
] — i
200,/0.75 1- ;'
]
0 50 100 150 Q [1/min]

[ft]



3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 40 at 1450 min *
(according to ISO 9906 Annex A)

20

(m]

15

10

P2
[kw]
0.7

0.1

80

(7] 70

60

50

40

30

0 US.gpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| I I I [ I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
I — 60
——200/1.5
\\\
T~ —50
\\|
\\%] L 40
T T T 2o T
B et T \' - 30
| — 160/0.55 B
I e S e ) S 160/055% —
—_— 125 0.37 <= \“\ 20
c—— ‘ | T E— "
\\725/0 37 T
—
\\\ ™~ 10
—
0
0 100 200 300 Q [I/min]
[ I I I I I I I I I I I 1
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
T — T ]
p—
200/1.5 ] — 200,/1.1
//
FOO{HR‘ P —— “160/0.55
160,/0.55R — — 125/0.37 |
125/0.37R |
0 100 200 300 Q [I/min]
I I I
125,/0.37 N‘PSH
— = | |[m] [ft]
— —
160,/0.55R —— Ly
160,/0.55 2 ;// 125/0.37R {5,
| | _
200/1.1R A
200/1.1 NPSH 160 _ 11,
| N m ﬁ__ __5
200/1.5 200—H 11
|
0 100 200 300 Q [I/min]

(ft]



3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 50 at 1450 min
(according to ISO 9906 Annex A)

20

(m]

2.4

P2
[kw] 1.6

0.8

80

%
(2
60

50

40

0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I | I I I
0 Imp.g.p.m. 40 60 80 100 120 140 160
—60
7T T+ ==
\\30\0/2.2
T~ 50
™
T T N~y
O et = || TT~—~200/75 - 40
[T~ ™~
T T = | T 30
T~ 76’?\!\\\ Ny
L1IR ~
T T T ™~ 20
R - T T —— 725 O‘ 5 5 \\\‘ \.l
\\\\\ \\\' L
L 10
-
0
0 100 200 300 400 500 600 700 Q [I/min]
[ I T T l l I I l l
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
T
| LT —200/2.2
200/1.5R —— |1
160/1.1R [ ——— ~£200/1.5
125/0.55R ~ = T 160/1.11
|| ! || | | —1125/0.55
0 100 200 300 400 500 600 700 Q [I/min]
B [ _-200/1.5" 1| NPsH
— = L m] (]
7 TN T y | ;[
A )
A - N 160/1.1R7| 57
125/0.55 — 744 o 125,/0.56R Z160—H 411
200/1.5R ZEp 7200 310
L T A == 125 8
160/1.17 . 2 ¢
Ll 14
200/2.2 ]
| | |
|
0 100 200 300 400 500 600 700 Q [1/min]

(ft]



SERIE 3-3L

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P 65 at 1450 min *
(according to ISO 9906 Annex A)

17

(m]

13

2.8

P2
[kw]
1.4

80

%

K3 .
60

50

40

Vs

0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I I I | I
0 Imp.g.p.m. 50 100 150 200 250 300
I~
T~ — 50
—-—-_——_‘~—\ \\200/5
~ N
e < —
. ~00,
s = ~ L2 - 40
TE—— T s N
T TTTT—r \\Q\\ \\‘ L
T T T T ——L S~ 160 \\\ \\
— e~ N
— \\\ ‘76 ‘ 7‘5‘ \\
i | X T ~
~ / ~ —20
I ~—_ \\722\54\,4\ NG N 160/2.2
~ S0
XD
\\5‘/0 55T 10
™~
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
T T T
200/2.2R B 200/3
L — | e — 27
160/2.2 T 200/2.2
Sy = — ——160/1.5—
125/1.1 e — —T—r—160/11__
125/0.55 T 125/075
|
0 200 40 600 800 1000 1200 Q [I/min]
T T
200/3 | |
— RN 160/2.2
7 So
0 125/055 | ™ N §\§ a
160/1.1 125/075 ANNEN Ly,
125/1.1° VaND 200/2.27™ 1
200/2.2R 2004 4
/ 160/15] \_ | 10 460_ LI
= , 8
— 6
| 4
0 200 400 600 800 1000 1200 Q [I/min]

|

(#t]



= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
3M (3LM) up to 1,1 kW 2 POLES

B Space for

02 dissassembly
nl — ¢18
X A
&
n -
) %\ T
ju g
|
5 &| 2 o] [ 3, =
éj/ﬁ T
s
R ‘ 4 - ¢15
N1
SA N2
4 - #18 \g{
DIMENSIONAL TABLE
Dimensions (mm) Weight
Model || @ nl g | o o | o | 0| @ H3
3(LM DNADNM P1 | [1] | [2] | K1 | D1 |SA|P2 | K2 |D2|SM| H |H1|H2|[B] |4 | R |W | NL|M|N2|A|B|C|V]|X kg
32-125L.1 (M) | 50 | 32 | 96 - | 125|165 | 16 | 76 | 100 | 140 | 14 | 252 | 112 | 140 | 122 | 139 | 80 | 70 | 140 | 114 | 190 | 213 | 408 | 231 |FG135| 110 | 215
32-160/15(M) | 50 | 32 | 96 - | 125|165 | 16 | 76 | 100 | 140 | 14 | 292 | 132 | 160 | 122 | 139 | 80 | 70 | 190 | 118 | 240 | 254 | 408 | 231 |FG135| 110 | 242
32-16022(M) | 50 | 32 | 96 - | 125|165 | 16 | 76 | 100 | 140 | 14 | 292 | 132 | 160 | 122 | 139 | 80 | 70 | 190 | 118 | 240 | 254 | 408 | 231 |FG135| 110 | 273
32-20013,0 5 | 32| % - | 125|165 | 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 | 122 | - | 80 | 70 | 190 | 119 | 240 | 296 | 433 | 256 |FG135| 110 | 349
32-200/4,0 5 | 2| % - | 125|165 | 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 | 134 | - | 80 | 70 | 190 | 119 | 240 | 296 | 458 | 256 |PG 16| 110 | 423
32-2005,5 5 | 2| % - | 125|165 | 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 [ 153 | - | 80 | 70 | 190 | 119 | 240 | 296 | 477 | 276 |PG 16| 110 | 532
32-20075 5 | 32| % - | 125|165 | 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 [ 153 | - | 80 | 70 | 190 | 119 | 240 | 296 | 520 | 276 |PG 16| 110 65

40125115 (M) | 65 | 40 | 116
4012522 (M) | 65 | 40 | 126
016030 | 65 | 40 | 116
4016040 | 65 | 40 | 116
4020055 | 65 | 40 | 116
020075 | 65 | 40 | 116
020011 | 65 | 40 | 116
50-125122 (M) | 65 | 50 | 116
5012530 | 65 | 50 | 116
501250 | 65 | 50 | 116
50-16055 | 65 | 50 | 116
50-16075 | 65 | 50 | 116
5020002 | 65 | 50 | 116
500011 | 65 | 50 | 116
65-125/4 8 | 65 | 134
6512555 | 80 | 65 | 134
6512575 | 80 | 65 | 134
6516075 | 80 | 65 | 134
6516002 | 80 | 65 | 134
6516011 | 80 | 65 | 134

[1] Standard
[2] On request

- | 145|185 | 16 | 81 | 110 | 150 | 14 | 252 | 112 | 140 | 122 | 139 | 80 | 70 | 160 | 114 | 210 | 213 | 408 | 231 (P6135| 115 | 223
- | 145]185| 16 | 81 | 110 | 150 | 14 | 252 | 112 | 140 | 122 | 139 | 80 | 70 | 160 | 114 | 210 | 213 | 408 | 231 |FGI35| 115 | 247
- | 1451 185| 16 | 81 | 110 | 150 | 14 | 292 | 132 | 160 | 122 | - | 80 | 70 | 190 | 118 | 240 | 254 | 433 | 255 |RG135 | 115 30
- | 145|185 | 16 | 81 | 110 | 150 | 14 | 292 | 132 | 160 | 134 | - | 80 | 70 | 190 | 118 | 240 | 254 | 458 | 255 |PG 16| 115 | 37,6
- | 145|185 | 16 | 81 | 110 | 150 | 14 | 340 | 160 | 180 | 153 | - | 100 | 70 | 212 | 139 | 265 | 296 | 497 | 278 PG 16| 115 | 545
- | 145]185| 16 | 81 | 110 | 150 | 14 | 340 | 160 | 180 | 153 | - | 100 | 70 | 212 | 139 | 265 | 296 | 520 | 224 |PG16| 115 | 61,6
145 1185 | 16 | 81 | 110 | 150 | 14 | 340 [ 160 | 180 | 181 | - | 100 | 70 | 212 | 139 | 265 | 296 | 577 | 224 |PG21) 115 | 738
- | 145|185 | 16 | 96 | 125|165 | 16 | 292 | 132 | 160 | 122 | 139 [ 100 | 70 | 190 | 138 | 240 | 254 | 428 | 231 |FG135 | 125 0
- | 145|185 | 16 | 96 | 125|165 | 16 | 292 | 132 | 160 | 122 | - | 100 | 70 | 190 | 138 | 240 | 254 | 453 | 255 (PG135| 125 | 315
- | 145]185| 16 | 96 | 125|165 | 16 | 292 | 132 | 160 | 134 | - | 100 | 70 | 190 | 138 | 240 | 254 | 478 | 255 |PG 16| 125 | 37,6
- | 1451 185| 16 | 96 | 125|165 | 16 | 340 | 160 | 180 | 153 | - [ 100 | 70 | 212 | 139 | 265 | 296 | 497 | 278 |PG 16| 125 54
145 1185 | 16 | 96 | 125|165 | 16 | 340 | 160 | 180 | 153 | - | 100 | 70 | 212 | 139 | 265 | 296 | 520 | 224 |PG16| 125 | 611
145|185 | 16 | 96 | 125 | 165 | 16 | 360 | 160 | 200 | 181 | - | 100 | 70 | 212 | 139 | 265 | 296 | 582 | 239 |PG21| 125 | 67,5
145 1185 | 16 | 96 | 125|165 | 16 | 360 [ 160 | 200 | 181 | - | 100 | 70 | 212 | 139 | 265 | 296 | 582 | 239 [PG21) 125 | 735
160 | 200 | 18 | 115 | 145|185 | 16 | 340 | 160 | 180 | 139 | - | 100 | 95 | 212 |149,5| 280 | 254 | 483 | 253 |PG 16/ 145 40
160 | 200 | 18 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | - | 100 | 95 | 212 |149,5| 280 | 254 | 496 | 275 |PG 16/ 145 52
160 | 200 | 18 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 150 | - | 100 | 95 | 212 |149,5| 280 | 254 | 540 | 275 |PG 16| 145 | 585
160 | 200 | 18 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 150 | - | 100 | 95 | 212 |1495| 280 | 296 | 540 | 275 |PG 16| 145 62
160 | 200 | 18 | 115 | 145 | 185 | 16 | 360 | 160 | 200 {1775 - | 100 | 95 | 212 |149,5| 280 | 296 | 593 | 356 |PG 21| 145 67
160 | 200 | 18 | 115 | 145|185 | 16 | 360 | 160 | 200 |1775] - | 100 | 95 | 212 |149,5] 280 | 296 | 593 | 356 [PG21) 145 | 756

o R =T~ - N> Ji == T == [ O G G U U U G IS SO SO O S SO S SO O SO SO SO SO S
1

~ &~ & &~ |1

76




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
3M (3LM) 15 + 22 kW 2 POLES

B Space for
02 dissassembly nl — ¢18
P2
DNM X
3

L {679 ~ .

|

| B
- — ; T /7. N\ I =
ol al T A\ 2 T x|
| l 5 2-914 &
— Jo T T
T T /w/ T
EEE _4_/
]
!
R C L
D F N1
W N2
2 - 915
SA M

4= i; % JL xj ﬁ‘

DIMENSIONAL TABLE

Dimensions (mm) Weight

Model ZTH TG T ni (00 G0 555
3(L)M DNA|DNM| P1 | [1] | [2] | K1 |D1|SA | P2 |K2|D2|SM| H |HL|H2|H3| R |W |NIL|M|N2|A|B L|jLu|2jwl3|u4jc|DbD F S X kg

50-200/15 65 | 50 | 116
65-160/15 80 | 65 |134

| 1451185 16 | 96 [ 125|165 16 | 360| 160|200 | 222 | 100 | 70 | 212 | 139 | 265|296 7235 254 | 254 | 318 | 65 |304[1905 - | - | - |125] 9%
|
65-200/15 80 | 65 | 134
I
|

160200 | 18 | 115{145|185| 16 | 360 | 160 | 200 | 222 | 100 | 95 | 212 (1495 280|296 | 733 | 254 | 254 | 318 | 65 | 3041995 - | - | - |145| 93
160|200 | 18 | 115145185 | 16 405|180 | 225|222 100 | 95 | 250 |149,5(320 {296 | 733 | - |258|318| 60 | 345199,5300| 20 | 20 |145| 114
160|200 | 18 | 115145185 | 16 405|180 |225|222|100 | 95 | 250 14955320 {296 | 733 | - |258|318| 60 | 3451995300 | 20 | 20 |145| 127
1601200 18 | 115|145]185) 16 | 405|180 | 225|222 100 | 95 | 250 |149,5/320 286 | 733 | - | 258318 | 60 | 345[199,5300| 20 | 20 | 145| 136

65-200/185 | 80 | 65 | 134
£5-200/22 80 | 65 | 134

[1] Standard
[2] On request

o oo oo oo~
~ s~ B~

7




= 3S-3L SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
3M4 (3LM4) 4 POLES

X > Space for
dissassembly

M
T
T
]
\
=t
i ['e}
Q2
T
22| "
DIMENSIONAL TABLE
Model Dimensions (mm) Weight]
3(L)M4  [gDNAJgDNM N1 OK1| @P1|@D2[@K2[@P2] A | B [ C [ H [HLI[H2[ H3] M [ NL[N2] R [ S [@Di] SA| W | X | kg
[l [

321250025 | 50 | 32 | 4 1251 9 | 140 | 100 | 76 | 213 | 375 | 205 | 262 | 112 | 140 | 104 | 114 | 140 | 190 | 80 | 14 | 165 | 16 70 | 110 | 150
32-160/0.37R | 50 | 32 | 4 15| 9 | 140 | 1200 | 76 | 254 | 395 | 222 | 292 | 132 | 160 | 117 | 118 | 190 | 240 | 80 | 14 165 | 16 70 | 110 | 200
32-1600037 | 50 | &2 | 4 1251 9 | 140 | 100 | 76 | 254 | 395 | 222 | 292 | 132 | 160 | 117 | 118 | 190 | 240 | 80 | 14 | 165 | 16 | 70 | 110 | 200
32-2000055R | 50 | 32 | 4 1251 96 | 140 | 100 | 76 | 294 | 305 | 223 | 340 | 160 | 180 | 117 | 119 | 190 | 240 | 80 | 14 | 165 | 16 | 70 | 110 | 250
32-2000055 | 50 | &2 | 4 1251 9 | 140 | 100 | 76 | 294 | 395 | 223 | 340 | 160 | 180 | 117 | 119 | 190 | 240 | 80 | 14 | 165 | 16 70 | 110 | 250
32-2000.75 | 50 | 32 | 4 15| 96 | 140 | 100 | 76 | 204 | 408 | 232 | 340 | 160 | 180 | 122 | 119 | 190 | 240 | 80 | 14 165 | 16 0 | 110 | 293
40-1250037R | 65 | 40 | 4 1451 116 | 150 | 110 | 8L | 213 | 375 | 205 | 252 | 112 | 140 | 104 | 114 | 160 | 210 | 80 | 14 | 18 | 16 | 70 | 115 | 150
40-1250.37 | 65 | 40 | 4 145 116 | 150 | 110 | 81 | 213 | 375 | 205 | 252 | 112 | 140 | 104 | 114 | 160 | 210 | 80 | 14 185 | 16 70 | 115 | 150
40-160/0.55R | 65 | 40 | 4 145 | 116 | 150 | 110 | 81 | 254 | 395 | 222 | 292 | 132 | 160 | 117 | 118 | 190 | 240 | 80 | 14 | 185 | 16 70 | 115 | 200
40-160/0.55 | 65 | 40 | 4 145 | 116 | 150 | 110 | 81 | 254 | 395 | 222 | 292 | 132 | 160 | 117 | 118 | 190 | 240 | 80 | 14 185 | 16 70 | 115 | 200
40-20011R | 65 | 40 | 4 145 116 | 150 | 110 | 81 | 294 | 428 | 232 | 340 | 160 | 180 | 122 | 115 | 212 | 265 | 100 | 14 | 185 | 16 70 | 115 | 300
40-20011.1 65 | 40 | 4 145 116 | 150 | 110 | 81 | 294 | 428 | 232 | 340 | 160 | 180 | 122 | 115 | 212 | 265 | 100 | 14 | 185 | 16 | 70 | 115 | 300
40-20011.5 65 | 40 | 4 145 | 116 | 150 | 110 | 81 | 294 | 428 | 232 | 340 | 160 | 180 | 122 | 115 | 212 | 265 | 100 | 14 | 185 | 16 0 | 116 | 322
50-125/0.55R | 65 | 50 | 4 145 | 116 | 165 | 125 | 96 | 254 | 415 | 222 | 292 | 132 | 160 | 117 | 114 | 190 | 240 | 100 | 16 18 | 16 70 | 125 | 200
50-125/055 | 65 | 50 | 4 45| 116 | 165 | 125 | 9 | 254 | 415 | 222 | 292 | 132 | 160 | 117 | 114 | 190 | 240 | 100 | 16 185 | 16 70 | 125 | 200
50-160/LIR | 65 | 50 | 4 145 | 116 | 165 | 125 | 96 | 296 | 428 | 232 | 340 | 160 | 180 | 122 | 115 | 212 | 265 | 100 | 16 | 185 | 16 | 70 | 125 | 300
50-160/1.1 65 | 50 | 4 145 | 116 | 165 | 125 | 96 | 296 | 428 | 232 | 340 | 160 | 180 | 122 | 115 | 212 | 265 | 100 | 16 185 | 16 70 | 125 | 300
50-200/L5R | 65 | 50 | 4 145 | 116 | 165 | 125 | 96 | 296 | 428 | 232 | 360 | 160 | 200 | 122 | 115 | 212 | 265 | 100 | 16 185 | 16 70 | 125 | 300
50-20011.5 65 |50 | 4 - | 145 | 116 | 165 | 125 | 96 | 296 | 428 | 232 | 360 | 160 | 200 | 122 | 115 | 212 | 265 | 100 | 16 185 | 16 70 | 125 | 300
50-200/2.2 65 15| 4 - | 145 116 | 165 | 125 | 96 | 296 | 478 | 256 | 360 | 160 | 200 | 134 | 115 | 212 | 265 | 100 | 16 | 185 | 16 | 70 | 125 | 318
65-125/0.55 | 80 | 65 | 8 4| 160 | 134 | 185 | 145 | 115 [ 254 | 415 | 219 | 340 | 160 | 180 | 117 | 1495 212 | 280 | 1200 | 16 | 200 | 18 | 95 | 145 | 229
65-125/0.75 | 80 | 65 | 8 4 | 160 | 134 | 185 | 145 | 115 | 254 | 427 | 230 | 340 | 160 | 180 | 1235| 1495 | 212 | 280 | 1200 | 16 200 | 18 9% | 145 | 278
65-125/1.1 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 264 | 427 | 230 | 340 | 160 | 180 | 1235| 1495 | 212 | 280 | 1200 | 16 200 | 18 9% | 145 | 281
65-160/L.1 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 427 | 230 | 360 | 160 | 200 | 1235| 1495 | 212 | 280 | 1200 | 16 | 200 | 18 | 95 | 145 | 308
65-160/1.5 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 483 | 253 | 360 | 160 | 200 | 1235| 1495 | 212 | 280 | 1200 | 16 | 200 | 18 | 95 | 145 | 326
65-160/2.2 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 483 | 253 | 360 | 160 | 200 | 139 | 1495 | 212 | 280 | 1200 | 16 200 | 18 9% | 145 | 378
65-2002.2R | 80 | 65 | 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 483 | 263 | 405 | 180 | 225 | 139 | 1495 | 250 | 320 | 100 | 16 200 | 18 9% | 145 | 385
65-20012.2 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 483 | 253 | 405 | 180 | 225 | 130 | 1495| 250 | 320 | 100 | 16 200 | 18 9% | 145 | 387
65-200/3.0 80 | 65| 8 4 | 160 | 134 | 185 | 145 | 115 | 296 | 483 | 253 | 405 | 180 | 225 | 139 | 1495| 250 | 320 | 1200 | 16 | 200 | 18 | 95 | 145 | 433

[1] Standard
[2] On request

78




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
35 (3LS) up 10 2,2 kW 2 POLES

A
4-018 EJ o
3| & gI: f A
4
(TN
| 4 - 15
16 \ s;
’W‘ Space for
dissassembly
[1] Only for three-phase
[2] Only for mono-phase
DIMENSIONAL TABLE
Dimensions (mm) Weight
Model |[@ [ o o] @] @] 9| @ | @ H3
3(L)S DNA |DNM| P1 KL | D1 | P2 | K2 | D2 H HL | H2 | [ | [21 | N1 | M | N2 A B c X kg
32-125/1,1M 5 | 32 9% | 125 | 165 | 76 | 100 | 140 | 252 | 112 | 140 | 129 | 150 | 140 | 114 | 190 | 213 | 430 | 118 | 110 231
32-160/1,5M 5 | 32 9% | 125 | 165 | 76 | 100 | 140 | 292 | 132 | 160 | 138 | 160 | 190 | 118 | 240 | 254 | 477 | 130 | 110 285
32-160/2,2M 5 | 32 % | 125 | 165 | 76 | 100 | 140 | 292 | 132 | 160 | 138 | 160 | 190 | 118 | 240 | 254 | 477 | 130 | 110 324
40-125/1,5M 65 | 40 | 116 | 145 | 185 | 81 | 110 | 150 | 252 | 112 | 140 | 138 | 160 | 160 | 114 | 210 | 213 | 477 | 130 | 115 265
40-125/2,2M 65 | 40 | 116 | 145 | 185 | 81 | 110 | 150 | 252 | 112 | 140 | 138 | 160 | 160 | 114 | 210 | 213 | 477 | 130 | 115 29,6
50-125/2,2M 65 | 50 | 116 | 145 | 185 | 95 | 125 | 165 | 292 | 132 | 160 | 138 | 160 | 190 | 138 | 240 | 254 | 497 | 130 | 125 329

35 (3LS) 3+ 4 kW 2 POLES

nl— 818

>

H3
H2

D1

Y
(A

E

X N

~
|

s

o

Space for
dissassembly

[1] Standard
[2] On request

DIMENSIONAL TABLE

Dimensions (mm) Weight

Model [@ [ @] @ nl g o || ] 0] @
3(L)S |DNA|DNM| P1 | [1] | [2] | K1 | D1 |SA [ P2 | K2 |D2|SM| H |HL |H2|H3 | R |W |[NL|M|[N2| A |B |[LL|L2]|L3|P ]| X| kg

3220030 |50 | 32|96 | 4 | - [125|165| 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 | 145 | 80 | 70 | 190 | 119 | 240 | 294 | 528 | 160 | 202 | 42 | 63 | 110 | 434
32200140 |50 | 32| 96| 4 | - |[125|165| 16 | 76 | 100 | 140 | 14 | 340 | 160 | 180 | 161 | 80 | 70 | 190 | 119 | 240 | 294 | 550 | 190 | 228 | 38 | 70 | 110 | 459
65-125/40 | 80 | 65 | 134] 8 | 4 160200 | 18 [ 115|145 | 185 | 16 | 340 | 160 | 180 | 161 [ 100 | 95 | 212 |1495| 280 | 254 | 615 | 190 [ 228 | 38 | 70 | 145 47

79




3-3BL SERIES

35 (3LS) 11 + 15 kW

SM

D2

P2

SA

D1
P1
DNA

f

H3

nl— ¢18

350

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
2 POLES

A

H2

H1

,5??\ 1 © gg
il ] | s
R 4 - 919 70
W ¢ 240
25 720 25 X 310
F
4-018 Space for
dissassembly
By
DIMENSIONAL TABLE
Dimensions (mm) Weight
Model g 8| @ ni 3|3 | 9 | 8| 8] 2
3(L)S DNA|DNM| P1 | [1] | [21| K1 | D1 |SA | P2 | K2 | D2 [ SM| H | HL | H2 | H3| R | W | B C F | X kg
40-200/11 65 | 40 [ 115 | 4 145 185 | 16 | 80 | 110 | 150 | 14 | 382 | 160 | 180 | 250 | 100 | 110 | 801 | 198 | 836 | 115 107
50-200/11 65| 50 | 115 | 4 145|185 | 16 | 95 | 125 | 165 | 16 | 402 | 160 | 200 | 250 | 100 | 110 | 801 | 198 | 836 | 125 107
50-200/15 65 | 50 | 115 | 4 - | 145|185 | 16 | 95 | 125 | 165 | 16 | 402 | 160 | 200 | 250 | 100 | 110 | 801 | 198 | 836 | 125 131
65-160/11 80 | 65 | 134 | 8 4 | 160 | 200 | 18 | 115 | 145 | 185 | 16 | 402 | 160 | 200 | 246 | 100 |1225| 801 | 198 | 849 | 145 76
65-160/15 80 | 65 | 134 | 8 4 | 160 | 200 | 18 | 115 | 145 | 185 | 16 | 402 | 160 | 200 | 246 | 100 [1225] 811 | 208 | 859 | 145 104

[1] Standard
[2] On request




3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

3 (3LS) 2 POLES

B
D2 nl— 918
A
’ \
g LN -
| 2-914 \ﬁ
A . -
i =
P L 4 - 915
R c D F N1
W X N2
SA M
\ Space for
dissassembly
4 - 018 = $ b — =
A
@ G o o
# #
DIMENSIONAL TABLE
Dimensions (mm) Weight
Model (g [ o [ & olololo]o
3(L)S |onapnm| 1| 11| 21| K1 |D1|sA| P2 | k2| D2|sM| H [ H1|H2 |H3 | H4| R [w Nt M IN2|A B clD|Fl L lulelis]lelolr]x kg
32-2005 [ 50 [ 32 [ % | 4 125(165| 16 | 76 [ 100(140| 14 {340/ 160/ 180|205 | 28| 80 | 70 | 190|119|240|300 | 615| 165| 314| 15| - |216|266| 50 | 270| 12 110 62,8
320015 | 50|32 9% | 4 125/165| 16 | 76 | 100(140| 14 340/ 160/ 180|205 | 28| 80 | 70 | 190|119|240|300 | 615| 165| 314| 15| - |216|266| 50 | 270| 12 110 746
40160130 | 65 | 40 116 4 145(185| 16 | 81 | 110(150( 14 {292 132|160 |145| 32| 80 | 70 | 190|118 (240|254 | 528 | 142| 246| 15 | - |160|200| 40 | 220| 12 115 39
40160140 | 65 | 40 116 4 145(185| 16 | 81 | 110(150| 14 {292 132|160 |161| 20| 80 | 70 | 190|118|240|254 |550| 142| 253| 15| - |190|240| 50 | 220| 12 115 415
40-200/5 | 65 | 40 (116 4 145/185| 16 | 81 | 110{150( 14 {340/ 160 180|205 | 28| 100| 70 | 212|139|265|300 | 635| 165| 314| 15| - |216|266| 50 | 270| 12 115 63,2
40-20075 | 65 | 40 116 4 145/185| 16 | 81 | 110(150( 14 340/ 160/ 180|205 | 28| 100| 70 | 212|139|265|300 | 635| 165| 314| 15| - |216|266| 50 | 270| 12 115 69,6
50-12530 | 65 | 50 116 4 145(185| 16 | 96 | 125(165| 16 {292 132|160 | 145 | 32| 100| 70 | 190| 138|240 | 254 | 548 | 142| 246| 15 | - |160|200| 40 | 220| 12 125 v
50-125/40 | 65 | 50 | 116| 4 145/185| 16 | 96 | 125(165| 16 {292 132|160 |161| 20| 100| 70 | 190| 138|240 | 254 |570| 142| 253| 15| - |190|240| 50 | 220| 12 125 425
50-16055 | 65 | 50 | 116| 4 145(185| 16 | 96 | 125(165( 16 340/ 160 180|205 | 28| 100| 70 | 212|139|265|300 | 635| 165| 314| 15| - |216|266| 50 | 270| 12 125 63,8
50-16075 | 65 | 50 | 116| 4 145(185| 16 | 96 | 125(165| 16 340/ 160/ 180|205 | 28| 100| 70 | 212|139|265|300 | 635| 165| 314| 15| - |216|266| 50 | 270| 12 125 69,6
50-20019,2 | 65 | 50 [116| 4 | - |145|185| 16 | 96 | 125| 165| 16 | 360| 160|200 (205 | 28 | 100| 70 | 212|139 |265|300|673| 165 314| 15 | - | 216|266 50 |270| 12 125 79,7
65-125/55 | 80 | 65 | 134| 8 | 4 |160(200| 18 | 115| 145|185| 16 |340| 160|180 |198 | 28| 100| 95 | 212(149,5 280|300 | 635| 165| 314| 15 | - |216|266| 50 | 270| 12 145 60
65-125/75 | 80 | 65 | 134| 8 | 4 |160(200| 18 | 115| 145| 185| 16 {340 160|180 |198 | 28| 100| 95 | 212(149,5 280|300 | 635| 165| 314| 15 | - |216|266| 50 | 270| 12 145 67
65-160/75 | 80 | 65 | 134| 8 | 4 |160{200| 18 | 115| 145|185| 16 {360 160|200 198 | 28| 100| 95 | 212(149,5 280|300 | 635| 165| 314| 15 | - |216|266| 50 | 270| 12 145 70
65-160/9.2 | 80 | 65 | 134| 8 | 4 |160(200| 18 | 115| 145| 185| 16 {360 160|200 |198 | 28| 100| 95 | 212[149,5 280|300 | 673 | 165| 314| 15 | - |216|266| 50 | 270| 12 145 i
65-200/15 | 80 | 65 | 134| 8 | 4 |160(200| 18 | 115| 145|185| 16 |405| 180|225 |246 | 20| 100| 95 | 250(149,5 320 | 350 | 811 | 208| 413| 20 | - [254|314| 60 | 350| 14 145 128
65-200/185( 80 | 65 | 134| 8 | 4 |160{200| 18 | 115| 145| 185| 16 |405| 180|225 |246 | 20| 100| 95 | 250(149,5 320|350 | 855 | 208| 413| 20 | - [254|314| 60 | 350| 14 | - | 145 141
65-20022 | 80 | 65 | 134| 8 | 4 [160[200| 18 | 115] 145| 185| 16 | 405| 180 225|266 100] 95 | 250 1149,5320 | 350 | 910 | 208 2411 2791330| 83 121|145 160

[1] Standard
[2] On request

81




3-3BL SERIES

354 (3LS4) UP TO 1,5 kW

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
4 POLES

D2
K2 Space for
dissassembly
P2
j : )
I j‘r
‘ i
¢ s —1|p 0 O
m
pu
B LB e ———— e
0000000
| (10000000
ETEEJL nly18
C
ﬁ
DIMENSIONAL TABLE
Model Dimensions (mm) Weight
3L)S4  'ZDNA[@DNM] ni | @D1 | SA | @K1 | @P1 | NI | @D2 | @K2 | @P2 | A | B | C | D | H | HL ] H2 | 11 | 2 [ M [ NI [N2] R | W [ S | T X kg
[11[2]
32-125/0.25 50 2 [4]-| 165 16 125 96 4 140 | 100 76 | 213 | 401 | 108 8 262 | 112 | 140 | 112 | 140 | 114 | 140 | 190 80 70 14 45 110 155
32-160/0.37R 50 R [4]-| 165 16 125 96 4 140 | 100 76 | 254 | 401 108 8 292 | 132 | 160 | 112 | 140 | 118 | 190 | 240 80 70 14 45 110 207
32-160/0.37 50 R [4]-| 165 16 125 9% 4 140 | 100 76 | 254 | 401 108 8 292 | 132 | 160 | 112 | 140 | 118 | 190 | 240 80 70 14 45 110 207
32-200/0.55R 50 R [4]-| 165 16 125 96 4 140 | 100 76 | 29 | 43 118 10 340 | 160 | 180 | 140 | 168 | 119 | 190 | 240 80 70 14 56 110 289
32-2000.55 50 2 | 4)-]| 165 16 125 % 4 140 | 100 76 | 296 | 435 | 118 10 | 340 | 160 | 180 | 140 | 168 | 119 | 190 | 240 80 70 14 56 110 289
32-20000.75 50 2 [ 4]-1 16 16 125 %6 4 140 | 100 76 | 206 | 435 | 118 10 | 252 | 160 | 180 | 140 | 168 | 119 | 190 | 240 80 70 14 56 110 30.1
40-1250.31R 65 40 [4]-] 18 16 145 | 116 4 150 | 110 81 | 213 | 401 118 8 22 | 112 | 180 | 112 | 140 | 114 | 160 | 210 80 70 14 [ 115 176
40-1250.37 65 40 [4]-1] 18 16 145 | 116 4 150 | 110 81 | 213 | 401 | 118 8 292 | 112 | 140 | 112 | 140 | 114 | 160 | 210 80 70 14 45 115 176
40-160/0.55R | 65 40 [4]-] 18 16 145 | 116 4 150 | 110 81 | 254 | 435 | 118 10 | 202 | 132 | 140 | 140 | 168 | 118 | 190 | 210 80 70 14 56 115 232
40-160/0.55 65 40 [4]-1] 18 16 145 | 116 4 150 | 110 81 | 254 | 435 | 118 10 | 340 | 132 | 160 | 140 | 168 | 118 | 190 | 210 80 70 14 56 115 232
40-200/L.1R 65 40 [4]-] 18 16 145 | 116 4 150 | 110 8L | 204 | 487 | 130 10 | 340 | 160 | 160 | 140 | 168 | 115 | 212 | 265 | 100 70 14 56 115 33
40-20011.1 65 40 [4]-1] 18 16 145 | 116 4 150 | 110 8L | 204 | 487 | 130 10 | 340 | 160 | 180 | 140 | 168 | 115 | 212 | 265 | 100 70 14 56 115 33
40-20011.5 65 40 [4]-1]18 16 45 | 116 4 150 | 110 81 | 204 | 512 130 10 292 | 160 | 180 | 140 | 168 | 115 | 212 | 265 | 100 70 14 56 115 b5
50-125/0.55R 65 5 [4]-| 18 16 145 | 116 4 150 | 125 % | 254 | 452 118 10 292 | 132 | 160 | 140 | 168 | 114 | 190 | 240 | 100 70 16 56 125 235
50-125/0.55 65 5 [4]-| 18 16 145 | 116 4 150 | 125 % | 254 | 452 118 10 340 | 132 | 160 | 140 | 168 | 114 | 190 | 240 | 100 70 16 56 125 285
50-160/L.1R 65 5 |[41]-] 18 16 145 | 116 4 150 | 15 9% | 296 | 487 | 130 10 | 340 | 160 | 180 | 140 | 168 | 115 | 212 | 265 | 100 70 16 56 125 34,0
50-160/1.1 65 5 |4-] 185 16 145 | 116 4 150 | 125 9% | 296 | 487 | 130 10 | 360 | 160 | 180 | 140 | 168 | 115 | 212 | 265 | 100 70 16 56 125 34,0
50-200/L.5R 65 5 [4]-| 18 16 145 | 116 4 150 | 125 9% | 296 | 512 | 130 10 | 360 | 160 | 200 | 140 | 168 | 115 | 212 | 265 | 100 70 16 56 125 300
50-200/L5 65 50 [4]-] 18 16 145 | 116 4 150 | 125 % | 296 | 512 | 130 10 | 360 | 160 | 200 | 140 | 168 | 115 | 212 | 265 | 100 70 16 56 125 300
65-1250.55 80 65 [8]4] 20 18 160 | 134 8 185 | 145 | 115 | 254 | 450 | 118 10 [ 340 [ 160 | 180 | 140 | 168 | 1495 [ 212 | 280 | 100 % 16 56 145 248
65-125/0.75 80 65 |84 20 18 160 | 134 8 185 | 145 | 115 | 254 | 450 | 118 10 | 340 | 160 | 180 | 140 | 168 | 1495 | 212 | 280 | 100 % 16 56 145 26
65-125/1.1 80 65 |84 20 18 160 | 134 8 185 | 145 | 115 | 254 | 497 | 130 10 | 340 | 160 | 180 | 140 | 168 | 1495 | 212 | 280 | 100 9% 16 56 145 30
65-160/1.1 80 65 |84 200 18 160 | 134 8 185 | 145 | 115 | 296 | 497 | 130 10 | 360 | 160 | 200 | 140 | 168 | 1495 | 212 | 280 | 100 % 16 56 145 KIS
65-160/1.5 80 65 8141 20 18 160 | 134 8 185 | 145 | 115 | 296 | 497 | 130 10 | 360 | 160 | 200 | 140 | 168 | 1495 | 212 | 280 | 100 % 16 56 145 352

[1] Standard
[2] On request

82




3-3BL SERIES

354 (3LS4) 2,2 + 3 KW

D1
P1

555
D2
P2
DM
T J
R oxei
= | [’_, — ——
— o
|l 000000
= | o
= i1 | Fongtoo
ki i 000000
— - P
i «ﬁiﬁ* U = =
100 ‘ 142 | 63 \ 140 H 22.5
W

DIMENSIONAL TABLE

H2

A
w [¥

nl — @18

4 POLES

A

=)

),
%

Y

Dimensions (mm) Weight

Model %] 7] nl 7] [%] 7] [7] [7] [7]

3(L)S DNA | DNM | [1] [2] P1 K1 D1 | SA P2 K2 | D2 H H1 H2 w N1 N2 M A kg
50-200/2.2 65 50 4 - 116 | 145 | 185 | 16 96 | 125 | 165 | 360 | 160 | 200 | 70 | 212 | 265 | 139 | 296 | 428
65-160/2.2 80 65 8 4 134 | 160 | 200 | 18 115 | 145 | 185 | 360 | 160 | 200 | 95 | 212 | 280 |149,5| 296 | 43,7
65-200/2.2R | 80 65 8 4 134 | 160 | 200 | 18 115 | 145 | 185 | 405 | 180 | 225 | 95 | 250 | 320 |149,5| 296 | 448
65-200/2.2 80 65 8 4 134 | 160 | 200 | 18 115 | 145 | 185 | 405 | 180 | 225 | 95 | 250 | 320 |149,5| 296 | 45
65-200/3.0 80 65 8 4 134 | 160 | 200 | 18 115 | 145 | 185 | 405 | 180 | 225 | 95 | 250 | 320 |149,5| 296 | 482

83




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
3P (3LP) 2 POLES

D2 B1
P2

- |
"]
\‘ ==

D1
P1
DNA
-
N

5
BT o ﬁé 17
} ;i an n1 - #18 Q -

[ | I

360 3 4-915 “" N3

D E N1

T N2

DIMENSIONAL TABLE
Dimensions (mm) Weight
Model 22| n | o]0 2| o] o H3

3(L)P DNA|DNM| P1 | [1] | [2]| K1 |D1 |SA [P2 | K2 | D2 |SM | H |HL |H2 |[3] | [4|R |A | B |BL| D| E |N1 |N2|N3| T |kg
32-12511,1 (M) 5 | 32| 9% | 4| -|125(165 |16 |75 | 100|140 | 14 |302 | 112 | 140 | 129 | 150 | 80 |213 | 715 | 272| 80 | 550 | 300 | 340 | 250 | 710 |435
32-16011,5 (M) 5 | 32| 9% | 4| -|15]165]16 |75 | 100|140 | 14 |342 |132 | 160 | 138 | 160 | 80 |254 | 760 | 317 | 80 | 590 350 | 390 300 | 750 | 51
32-16012,2 (M) 5 | 32| 9% | 4| -|125]165|16 |75 100|140 | 14 |342 |132 | 160 | 138 | 160 | 80 |254 | 760 | 317 | 80 | 590 |350 | 390 | 300 | 750 |535
32-20013 50 | 32| 9% | 4| -|125/165|16 |75 |100|140| 14 | 390 | 160 | 180 | 145 | - |80 |29 |809 | 366 | 80 | 590 | 350 | 390 | 300 | 750 | 68
32-200/4 5 | 32| 9% | 4| -|125(165 |16 |75 | 100|140 | 14 | 390 | 160 | 180 | 161 | - |80 |29 |83L | 388| 80 | 590 | 350 | 390 {300 | 750 | 72
32-2005,5 5 | 32| 9% | 4| -|125]165]16 |75 | 100|140 | 14 390 |160 | 180 | 198 | - |80 |296 | 893 | 450 | 100|650 |350 | 390 300 |850 | 88
32-20075 5 | 32 95| 4| -[125]165]16 |75 [100] 140 | 14 390 |160 | 180 | 198 | - |80 |296 | 893 | 450 | 100| 650 | 350 | 390 | 300 | 820 | 99,8
40-125/1,5 (M) 65|40 | 115 4 | - | 145|185 |16 |80 | 110 | 150 | 14 |302 | 112 | 140 | 138 | 160 | 80 |213 | 760 | 317| 80 | 550 | 300 | 340 | 250 | 710 (485
40-1252,2 (M) 65 | 40 | 115 4 | - | 145|185 | 16 |80 | 110 | 150 | 14 |302 | 112 | 140 | 138 | 160 | 80 [213 | 760 | 317| 80 | 550 | 300 | 340 | 250 | 710 | 51
40-160/3 65|40 | 105 4 | - | 145|185 |16 |80 | 110|150 | 14 |342 | 132 | 160|145 | - |80 |254 809 | 366 | 80 | 590 | 350 | 390 | 300 | 750 |775
40-160/4 65| 40 [ 115 4 | - |145)185 |16 |80 | 110|150 | 14 |342 |132 | 160|161 | - |80 |254 | 831 | 388 | 80 | 590 |350 | 390 | 300 | 750 | 64,5
40-2005,5 65|40 | 115 4 | - | 145|185 |16 |80 | 110 | 150 | 14 |390 | 160 | 180 | 198 | - [100 |29 | 913 | 450 | 100| 650 | 350 | 390 | 300 | 850 | 89
40-200/75 65 | 40 | 115 4 | - | 145|185 | 16 |80 | 110 | 150 | 14 |390 | 160 | 180 | 198 | - [100 |29 | 913 | 450 | 100| 650 | 350 | 390 | 300 | 850 |945
40-200/11 65 40 | 105 4 | - [ 145]185 |16 |80 | 110 | 150 | 14 1390 | 160 | 180 | 246 | - |100 | 296 |1076 | 613 | 100) 800 | 380 | 420 330 |1000 | 117
50-125/2,2 (M) 65|50 [115| 4 | - |145]185 | 16 |95 | 125|165 16 |342 | 132 | 160 | 138 | 160|100 |254 | 780 | 317 | 80 | 590 |350 | 390 | 300 | 750 | 132
50-125/3 65 | 50 | 115 4 | - | 145|185 |16 |95 |125|165| 16 |342 | 132 | 160 | 145 | - [100 {254 | 829 | 366 | 80 | 590 | 350 | 390 {300 | 750 | 79
50-125/4 65 | 50 | 115 4 | - | 145|185 |16 |95 | 125|165| 16 |342 | 132 | 160 | 161 | - |100 |254 | 851 | 388 | 80 | 590 | 350 | 390 | 300 | 750 |815
50-160/5,5 65|50 [115| 4 | - |145]185 |16 |95 | 125|165 16 |390 | 160 | 180 | 198 | - |100 |296 | 913 | 450 | 100|650 |350 | 390 | 300 | 850 | 89
50-160/7,5 65|50 [115| 4 | - |145]185 |16 |95 |125| 165| 16 |390 | 160 | 180 | 198 | - |100 |296 | 913 | 450 | 100| 650 |350 | 390 | 300 | 850 | 94,5
50-200/9,2 65 |50 | 115 4 | - | 145|185 |16 |95 | 125|165 16 |410 |160 | 200 | 198 | - |100 |296 | 951 | 488 | 100 650 | 350 | 390 {300 | 850 | 100
50-200/11 65 | 50 | 115| 4 | - | 1451185 | 16 |95 | 125|165| 16 |410 | 160 | 200 | 246 | - |100 |29 |1076 | 613 | 100| 800 | 380 | 420 | 330 |1000 (1175
50-200/15 65 | 50 | 115) 4 | - [ 145]185 |16 |95 | 125/ 165) 16 | 410 | 160 [ 200 [ 246 | - |100 |29 /1076 613 | 100| 800 | 380 | 420 | 330 |1000 |1254
65-125/4 80 | 65 | 134| 8 | 4 |160]200 | 18 |115 | 145|185 | 16 |390 | 160 | 180 | 161 | - |100 |254 | 851 | 388 | 80 | 590 |350 | 390 | 300 | 750 | 82
65-125/55 80 | 65 | 134 8 | 4| 160|200 | 18 |115 | 145|185| 16 |390 | 160 | 180 | 198 | - [100 |254 | 913 | 450 | 100| 650 | 350 | 390 | 300 | 850 | 90
65-125/75 80 | 65 | 134| 8 | 4| 160|200 | 18 |115 | 145|185| 16 |390 | 160 | 180 | 198 | - [100 |254 | 913 | 450 | 100|650 | 350 | 390 | 300 | 850 | 97
65-160/7,5 80 | 65 | 134| 8 | 4| 160|200 | 18 |115 | 145|185 16 |410 |160 | 200 | 198 | - |100 |296 |913 | 450 | 100 650 | 350 | 390 {300 | 850 | 103
65-160/9,2 80 | 65 | 134 8 | 4 |160|200 | 18 |115 | 145| 185 | 16 |410 | 160 | 200 | 198 | - |100 |296 | 951 | 450 | 100|650 |350 | 390 | 300 | 850 | 107
65-160/11 80 | 65 | 134 8 | 4 |160|200 | 18 |115 | 145|185| 16 |410 | 160 | 200 | 246 | - [100 |29 (1076 | 613 | 100| 800 | 380 | 420 | 330 |1000 | 114
65-160/15 80 | 65 | 134| 8 | 4| 160|200 | 18 |115 | 145|185 16 |410 |160 | 200 | 246 | - |100 |296 (1076 | 613 | 100 800 | 380 | 420 | 330 |1000 | 119
65-200/15 80 | 65 | 134| 8 | 4 |160(200 | 18 |115 | 145|185 | 16 |455 | 180 | 225|246 | - |100 |296 (1076 | 613 | 100| 800 | 380 | 420 {330 |1000 | 127
65-200/18,5 80 | 65 | 134 8 | 4 |160]200 | 18 |115 | 145| 185 | 16 |455 | 180 | 225|246 | - |100 |296 |1120| 657 | 100|800 |380 | 420 | 330 [1000 | 139
65-200/22 80 | 65 | 134 8 | 4 1160]200 | 18 |115 | 145|185 16 | 455 | 180 | 225|266 | - |100 | 296 |1175| 712 | 100) 800 | 410 | 450 {360 |1000 | 182

[1] Standard
[21 On reauest

84




3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
3P (3LP) 4 POLES

MAX.B

MAX.R A

nlyi8

H2

H1

+

DIMENSIONAL TABLE

Model Dimensions (mm) Weight
3(L)P4 | gpna|oDNM m Vel s |@op1| @Kl | @p1 | @D2 | oK2 | BP2 | A B E F | H|HL|H2|NL|N2| X Y R T | ko

32-125/0.25 50 R
32-16000.37R | 50 2
32-160/0.37 50 2
32-20010.55R | 50 R
32-20010.55 50 2
32-200/0.75 50 2
40-1250.37R | 65 4
40-125/0.37 65 4
40-160/0.55R | 65 4
40-160/0.55 65 4
40-200/1.1R 65 4
40-20011.1 65 4
40-20011.5 65 4
50-125/0.55R | 65 50

I 14 | 165 | 125 95 140 | 100 75 | 213 | 683 | 550 | 250 | 302 | 162 | 140 | 300 | 340 | &0 80 | 240 | 710 | 370
I
I
I
I
I
I
I
I
I
I
I
/.
I
50-125/0.55 65 50
I
I
l
I
I
I
I
/
l
l
I
I
I
Ik

4] 165 | 125 9 140 | 100 7 254 | 683 | 510 | 300 | 342 | 182 | 160 | 350 | 3% 80 80 20 | 670 | 410
14 | 165 | 15 9% 140 | 100 75 254 | 683 | 510 | 300 | 342 | 182 | 160 | 350 | 3% 80 80 2240 | 670 | 410
4 ] 165 | 15 9% 140 | 100 75 296 | 717 | 510 | 300 | 390 | 210 | 180 | 350 | 390 80 80 24 | 670 | 535
4] 185 | 125 95 140 | 100 7 26 | 717 | 510 | 300 | 390 | 210 | 180 | 350 | 3% 80 80 24 | 670 | 535
14 | 165 | 1% % 140 | 100 75 26 | 717 | 510 | 300 | 390 | 210 | 180 | 350 | 390 80 80 214 | 610 | 545
14 | 185 | 145 | 115 | 150 | 110 80 213 | 683 | 550 20 | 302 | 162 | 140 | 300 | 340 80 80 40 | 710 | 465
4] 18 | 145 | 115 | 150 | 110 80 213 | 683 | 550 20 | 302 | 162 | 140 | 300 | 340 80 80 40 | 710 | 465
4 | 18 | 145 | 115 | 150 | 110 80 254 | 717 | 510 | 300 | 342 | 182 | 160 | 350 | 390 80 80 24 | 610 | 445
4 | 185 | 145 | 115 | 150 | 110 80 254 | 717 | 590 | 300 | 342 | 182 | 160 | 350 | 3% 80 80 24 | 670 | 445
4 | 18 | 145 | 115 | 150 | 110 80 206 | 795 | 590 | 300 | 390 | 210 | 180 | 350 | 3% 80 80 332 | 780 | 615
4 | 18 | 145 | 115 | 150 | 110 80 296 | 795 | 590 | 300 | 390 | 210 | 180 | 350 | 390 80 80 332 | 750 | 615
14 | 185 | 145 | 115 | 150 | 110 80 206 | 795 | 510 | 300 | 390 | 210 | 180 | 350 | 390 80 80 332 | 750 | 640
16 | 18 | 145 | 115 | 165 | 125 % 254 | 737 | 510 | 300 | 342 | 182 | 160 | 350 | 3% 80 80 274 | 670 | 450
16 | 185 | 145 | 115 | 165 | 125 9% 254 | 737 | 590 | 300 | 342 | 182 | 160 | 350 | 390 80 80 24 | 610 | 450
16 | 185 | 145 | 115 | 165 | 125 9% 206 | 795 | 590 | 300 | 390 | 210 | 180 | 350 | 3% 80 80 332 | 780 | 525
16 | 18 | 145 | 115 | 165 | 125 % 206 | 795 | 590 | 300 | 390 | 210 | 180 | 350 | 3% 80 80 332 | 780 | 525
16 | 185 | 145 | 115 | 165 | 125 9% 296 | 795 | 590 | 300 | 410 | 210 | 200 | 350 | 390 80 80 332 | 750 | 640
16 | 18 | 145 | 115 | 165 | 125 9% 206 | 795 | 590 | 300 | 410 | 210 | 200 | 350 | 3% 80 80 332 | 750 | 640
16 | 18 | 145 | 115 | 165 | 125 % 206 | 863 | 590 | 300 | 410 | 210 | 200 | 350 | 390 80 80 400 | 750 10

16 | 200 | 185 | 134 | 185 | 145 15 | 254 | 735 | 510 | 300 | 39 | 160 | 180 | 350 | 3% 80 00 [ 212 | 670 | 486
16 | 200 | 185 | 134 | 185 | 145 15 | 254 | 735 | 510 | 300 | 390 | 160 | 180 | 350 | 3% 80 100 | 212 | 670 | 498
16 | 200 | 18 | 134 | 185 | 145 15 | 254 | 780 | 590 | 300 | 390 | 160 | 180 | 350 | 390 80 100 | 317 | 780 | 561
16 | 200 | 185 | 134 | 185 | 145 15 | 296 | 780 | 590 | 300 | 410 | 160 | 200 | 350 | 390 80 100 | 317 | 750 | 626
16 | 200 | 185 | 134 | 185 | 145 15 | 296 | 780 | 590 | 300 | 410 | 160 | 200 | 350 | 3% 80 100 | 317 | 750 | 637
16 | 200 | 18 | 134 | 185 | 145 15 | 296 | 829 | 590 | 300 | 410 | 160 | 200 | 350 | 390 80 100 | 366 | 780 | 715
16 [ 200 | 185 | 134 | 185 | 145 105 | 296 | 829 | 590 | 330 | 455 | 180 | 225 | 380 | 420 80 100 [ 366 | 750 | 741
16 | 200 | 185 | 134 | 185 | 145 15 | 296 | 829 | 590 | 330 | 455 | 180 | 225 | 380 | 420 80 100 | 366 | 750 | 742
16 | 200 | 18 | 134 | 185 | 145 105 | 296 | 829 | 590 | 330 | 455 | 180 | 225 | 380 | 420 80 100 | 366 | 780 | 775

50-160/1.1R 65 50
50-160/1.1 65 50
50-200/1.5R 65 50
50-200/1.5 65 50
50-20012.2 65 50
65-125/0.55 80 65
65-125/0.75 80 65
65-126/1.1 80 65
65-160/1.1 80 65
65-160/1.5 80 65
65-160/2.2 80 65
65-20012.28 80 65
65-20012.2 80 65
65-20013.0 80 65

[1] Standard
[2] On request

o © ™ ™ ™ ™o |l &~ & &8ssl s s s s sl s s s

O O O O O O 1

85




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD
35F - 35F4 (3LSF - 3LSF4) 2 POLES

DIMENSIONAL TABLE

Model Dimensions (mm)

3(L)SF ODNA|@GDNM| @D1 | @K1 oP1 @D2 | OK2 P2 A C E H H1 H2 L M N1 N2 P R S
32-125/1,1 50 2 165 | 125 9% 140 | 100 76 A3 | 18 | 165 | 252 | 112 | 140 | M0 | 114 | 140 | 190 29 80 14
32-160/1,5 50 2 165 | 125 9% 140 | 100 13 B4 | 130 | 165 | 292 | 132 | 160 | M0 | 118 | 190 | 240 2 80 14
32-16012,2 50 2 165 | 125 9% 140 | 100 6 B4 | 130 | 165 | 202 | 132 | 160 | M0 | 118 | 190 | 240 29 80 14
32-20013 50 k) 165 | 125 9% 140 | 100 76 94 | 2 | a5 | 340 | 160 | 180 | M2 | 119 | 190 | 240 29 80 14
32-200/4 50 2 165 | 125 9% 140 | 100 76 94 | w2 | a5 | 340 | 160 | 180 | M2 | 119 | 190 | 240 29 80 14
32-20005,5 50 2 165 | 125 9% 140 | 100 76 294 | 165 | 265 | 340 | 160 | 180 | M2 | 119 | 190 | 240 29 80 14
32-20017.5 50 2 165 | 195 9% 140 | 100 16 294 | 165 | 265 | 340 | 160 | 180 | M12 | 119 | 100 | 240 29 80 14
40125715 65 40 185 | 145 | 116 | 150 | 110 81 3 1 130 | 165 | /2 [ 112 [ 10 [ M0 [ 114 [ 160 | 210 29 80 14
40-12512,2 65 4 185 | 145 | 16 | 150 | 110 81 A3 | 130 | 165 | 252 | 112 | 140 | M0 | 114 | 160 | 210 29 80 14
40-16013 65 40 185 | 145 | 16 | 150 | 110 81 24 | 142 | 215 | 292 | 132 | 160 | M2 | 118 | 190 | 240 29 80 14
40-160/4 65 1| 185 | 145 | 16 | 150 | 110 81 B4 | 142 | 215 | 292 | 132 | 160 | M12 | 118 | 190 | 240 29 80 14
40-2005,5 65 40 185 | 145 | 16 | 150 | 110 81 294 | 165 | 265 | 340 | 160 | 180 | M2 | 115 | 212 | 265 %5 80 14
40-20017,5 65 4 185 | 145 | 16 | 150 | 110 81 294 | 165 | 265 | 340 | 160 | 180 | M12 | 115 | 212 | 265 2% 100 14
40-200111 65 40 185 | 145 | 116 | 150 | 110 81 294 | 198 | 300 | 340 | 160 | 180 | Mi6 | 115 | 212 | 265 % 100 14
50-1252,2 65 50 185 [ 145 | 116 [ 165 [ 125 9% B[ w2 [ 25 | 22 [ 132 [ 160 [ M2 [ 114 | 190 | 240 %5 100 16
50-12513 65 50 185 | 145 | 116 | 165 | 125 9% B4 M | a5 | 292 | 132 | 160 | M2 | 114 | 190 | 240 %5 100 16
50-125/4 65 50 185 | 145 | 116 | 165 | 125 9% B4 | w2 | a5 | 292 | 132 | 160 | M2 | 114 | 190 | 240 %5 100 16
50-160/5,5 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 165 | 265 | 340 | 160 | 180 | M2 | 115 | 115 | 212 %5 100 16
50-160/7,5 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 165 | 265 | 340 | 160 | 180 | M2 | 115 | 115 | 212 %5 100 16
50-200/9,2 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 165 | 265 | 360 | 160 | 200 | M2 | 115 | 212 | 265 %5 390 16
50-200/11 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 198 | 300 | 360 | 160 | 200 | M6 | 115 | 212 | 265 %5 390 16
50-200/15 65 50 185 | 145 | 116 | 165 | 125 9% 206 | 198 | 300 | 360 | 160 | 200 | M16 | 115 | 212 | 265 %5 390 16

H2

N2
N1

n
o

Bl
a

35F4 (3LSF4)

DIMENSIONAL TABLE

4 POLES

Model Dimensions (mm)

3(L)SF4 ODNA|GDNM | @D1 | @K1 oP1 @D2 | OK2 P2 A C E H H1 H2 L M N1 N2 P R S
32-1250,25 50 2 165 | 125 9% 140 | 100 76 23 | 108 | 130 | 252 | 12 | 10 | M8 | 114 | 140 | 190 29 80 14
32-160/0,37R | 50 2 165 | 125 9% 140 | 100 76 24 | 108 | 130 | 22 | 132 | 160 | M8 18 | 190 | 240 2 80 14
32-160/0,37 50 2 165 | 125 9% 140 | 100 76 4 | 108 | 130 | 292 | 132 | 160 | M8 | 118 | 190 | 240 2 80 14
32-200/0,55R | 50 R 165 | 125 9% 140 | 100 76 29 | 118 | 165 | 340 | 160 | 180 | M0 | 119 | 190 | 240 2 80 14
32-20010,55 50 2 165 | 125 9% 140 | 100 76 29 | 118 | 165 | 340 | 160 | 180 | M0 | 119 | 190 | 240 2 80 14
32-2000.75 50 2 165 | 195 9% 140 | 100 16 296 | 118 | 165 | 340 | 160 | 180 | MI0 | 119 | 190 | 240 2 80 14
40-1503R | 65 40 185 | 145 | 116 | 150 | 110 81 23 T 18 | 130 | 252 [ 12 [ o | me | 14 | 160 [ 210 29 80 14
40-12500,37 65 4 185 | 145 | 116 | 150 | 110 81 23 | 18 | 130 | 252 | 112 | 140 | M8 114 | 160 | 210 29 80 14
40-160/055R | 65 4 185 | 15 | 16 | 150 | 110 81 B4 | 118 | 165 | 292 | 132 | 160 | M0 | 118 | 190 | 240 29 80 14
40-160/0,55 65 4 185 | 15 | 16 | 150 | 110 81 4 | 118 | 165 | 292 | 132 | 160 | M0 | 118 | 190 | 240 29 80 14
40-20011,1R 65 4 185 | 15 | 16 | 150 | 110 81 294 | 130 | 165 | 340 | 160 | 180 | M0 | 115 | 212 | 265 %5 100 14
40-2001,1 65 4 185 | 15 | 16 | 150 | 110 81 29 | 130 | 165 | 340 | 160 | 180 | M0 | 115 | 212 | 265 2% 100 14
40-200L.5 65 4 185 | 145 | 116 | 150 | 110 81 204 | 130 | 165 | 340 | 160 | 180 | MI0 | 115 | 212 | 265 5 100 14
50-125/0,55R | 65 50 185 | 145 | 116 | 165 | 125 9% 54 1 118 | 165 | 292 | 132 [ 160 | M0 | 114 | 190 [ 240 25 100 16
50-125/0,55 65 50 185 | 145 | 116 | 165 | 125 9% 24 | 118 | 165 | 292 | 132 | 160 | M0 | 114 | 190 | 240 %5 100 16
50-160/1,1R 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 130 | 165 | 340 | 160 | 180 | M0 | 115 | 115 | 212 %5 100 16
50-160/1,1 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 130 | 165 | 340 | 160 | 180 | M0 | 115 | 115 | 212 %5 100 16
50-200/1,5R 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 130 | 165 | 360 | 160 | 200 | M0 | 115 | 212 | 265 2% 100 16
50-200/1,5 65 50 185 | 145 | 116 | 165 | 125 9% 29 | 130 | 165 | 360 | 160 | 200 | M0 | 115 | 212 | 265 %5 100 16
50-200/2,2 65 50 185 | 145 | 116 | 165 | 125 9% 206 | 130 | 215 | 360 | 160 | 200 | M12 | 115 | 212 | %5 2% 100 16




3S-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

B
A
P2 100
4-218 _| | DNM, 5
il 1! -t=
0 L] ! I_r
il DY
Y=/ | 50
=7
—> a|=lzZ | —— =
Qalx|a = I' ]
i e
R S 5
] _‘ ! 8
|
16
R 260 100
| 360
aRil | g
ey
[
ol = HEE
L
b1 -
g15-4fori /| p|35]35 |45 ]
M
DIMENSIONAL TABLE
Model Dimensions (mm) Weight
3(L)PF ODNA|GDNM| @D1 | @K1 | @P1 | @D2 | @OK2 | @P2 A B H H1 H2 M N1 N2 P R S kg
32125 5 | 32 | 165 | 15 | 95 | 40 | 100 | 75 | 213 | a0 | 252 | 12| 140 | 14 | M40 [ 190 | 29 | & | 4 | 180
32-160 5 | 32 | 165 | 125 | 95 | 140 | 100 | 75 | 254 | 440 | 292 | 132 | 160 | 118 | 19 [ 240 | 29 | & | 4 | 200
2200 5 | 3 | 165 | 125 | 65 | 140 | 100 | 75 | 296 | 440 | 0 | 160 | 180 | 119 | 190 | 240 | 29 | 80 | 14 | 285
40125 65 | 40 | 185 | W5 [ 115 [ 150 | 10 [ 80 | 213 [ a0 | 252 | 12 [ 140 | 114 [ 160 [ 20 [ 29 [ & | 14 [ 180
40-160 65 | 40 | 185 | W5 | 115 | 150 | 110 | 80 | 254 | a0 | 292 | 132 | 160 | 18 | 19 | 240 | 29 | & | 4 | 200
40-200 65 | 40 | 185 | 145 | 115 | 150 | 110 | 80 | 29 | 460 | 340 | 160 | 180 | 115 | 212 | 265 | 25 | 100 | 14 | 290
50-125 5 | 50 | 18 | 15 | 115 | 165 | 15 | 9 | 254 | 460 | 292 | 132 | 160 | 114 | 190 | 240 | % | 100 | 16 | 200
50-160 65 | 50 | 185 | 145 | 115 | 165 | 125 | 95 | 29 | 460 | 40 | 160 | 180 | 115 | 212 [ 265 | 25 | 100 | 16 | 290
50-200 65 | 5 | 185 | 145 | 115 | 165 | 125 | 95 | 296 | 460 | 360 | 160 | 200 | 115 | 212 | 265 | 25 | 100 | 16 | 295

87




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

3S (3LS) Series coupling

oM
|
|
I
$d2
#d3

L3
DIMENSIONAL TABLE 2 POLES

Motor Dimensions (mm)

Pump Type X
3S kwW HP Size Type di d2 d3 L3 M Size Standard h S E
32-125IN 1,1 15 80 BS 19 3 19 43 16x15 M6 x 6 UNI5929 218 6 98
32-160R 15 2 90 B5 19 39 24 53 16x15 M8x8 UNI'5929 213 8 110
32-160IN 2,2 B 920 B5 19 39 24 53 16x15 M8x8 UNI5929 213 8 110
32-200R 3 4 100 B35 19 43 28 63 16x15 M8x8 UNI'5929 313 8 122
32-200N 4 55 112 B35 19 43 28 63 16x15 M8 x8 UNI'5929 313 8 122
32-2001L 55 75 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
32-200/EL 15 10 132 B35 19 58 38 84 16x15 M8x8 UNI5929 413 10 145
40-125R 15 2 920 B5 19 39 24 53 16x15 M8x8 UNI'5929 213 8 110
40-125IN 2,2 3 20 B5 19 39 24 53 16x15 M8x8 UNI'5929 213 8 110
40-160R 3 4 100 B35 19 43 28 63 16x15 M8x8 UNI'5929 31,3 8 122
40-160N 4 55 112 B35 19 43 28 63 16x15 M8x8 UNI'5929 313 8 122
40-200R 55 75 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
40-200N 75 10 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
40-2001L 1 15 160 B35 19 63 42 114 1 16x15 M8 x 8 UNI'5929 453 12 178
50-125/5 2,2 3 920 B5 19 39 24 53 16x15 M8x8 UNI'5929 213 8 110
50-125R 3 4 100 B35 19 43 28 63 16x15 M8x8 UNI'5929 31,3 - 122
50-125IN 4 o) 112 B35 19 43 28 63 16x15 M8x8 UNI'5929 313 - 122
50-160R 55 75 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
50-160/N 15 10 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
50-200R 92 125 132 B35 19 58 38 84 16x15 M8x8 UNI'5929 413 10 145
50-200IN 1 15 160 B35 19 63 4 114 | 16x15 M8x8 UNI'5929 453 12 178
50-2001L 15 20 160 B35 2 63 4 114 | 18x15 M8x8 UNI'5929 453 12 209
65-125R 4 55 112 B35 19 28 43 63 16x15 M8x8 UNI'5929 313 8 122
65-125IN 55 75 132 B35 19 38 58 84 16x15 M8x8 UNI'5929 413 10 145
65-1251L 75 10 132 B35 19 38 58 84 16x15 M8x8 UNI5929 413 10 145
65-160/S 75 10 132 B35 19 38 58 84 16x15 M8x8 UNI'5929 413 10 145
65-160R 92 125 132 B35 19 38 58 84 16x15 M8x8 UNI5929 413 10 145
65-160IN 1 15 160 B35 19 4 63 114 | 16x15 M8x8 UNI'5929 453 12 178
65-160/L 15 20 160 B35 24 42 63 114 | 20x15 M8x8 UNI5929 453 12 184
65-200R 15 20 160 B35 24 4 63 114 | 20x15 M8x8 UNI'5929 453 12 184
65-200N 185 25 160 B35 24 42 63 114 | 20x15 M8x8 UNI5929 453 12 184
65-200L 2 30 180 B35 24 48 72 114 | 20x15 M10x 10 UNI 5929 518 14 184

DIMENSIONAL TABLE 4 POLES

Motor Dimensions (mm)

354 X
kw HP Size Type dl d2 d3 L3 M Size Standard h S E
32-125IN 0,25 033 71 B5 19 14 28 3 |MI6x15 M5 x 6 UNI'5929 16,3 5 88
32-160R 037 05 71 B5 19 14 28 3 |MI6Xx15 M5 x 6 UNI'5929 16,3 5 88
32-160IN 037 05 71 B5 19 14 28 3 |MI6x15 M5 x 6 UNI5929 16,3 5 88
32-200R 0,55 0,75 80 B5 19 19 3 43 |M16x15 M6 x 6 UNI'5929 218 6 98
32-200N 0,55 0,75 80 B5 19 19 3 43 |M16x15 M6 x 6 UNI'5929 21,8 6 98
32-2001L 015 1 80 BS 19 19 3 43 IMI6x15 M6 x 6 UNI 5929 218 6 98
40-125R 037 05 71 B5 19 14 28 3 |MI6Xx15 M5 x 6 UNI'5929 16,3 5 88
40-125IN 037 05 71 B5 19 14 28 33 [M16x15 M5 x 6 UNI'5929 16,3 5 88
40-160R 055 0,75 80 B5 19 19 3 43 |M16x15 M6 x 6 UNI'5929 218 6 98
40-160IN 0,55 0,75 80 B5 19 19 3 43 |M16x15 M6 x 6 UNI'5929 21,8 6 98
40-200R 11 15 20 B5 19 24 39 53 |M16x15 M8x8 UNI5929 213 8 110
40-200N 1,1 15 920 B5 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
40-2001L 15 2 20 BS 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
50-125R 0,55 0,75 80 B5 19 19 3 43 IM16x15 M6 x 6 UNI'5929 218 6 98
50-125IN 0,55 0,75 80 B5 19 19 3 43 |M16x15 M6 x 6 UNI5929 218 6 98
50-160R 11 15 20 B5 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
50-160IN 1,1 15 20 B5 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
50-200R 15 2 920 B5 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
50-200IN 15 2 90 B5 19 24 39 53 |M16x15 M8x8 UNI'5929 213 8 110
50-2001L 22 3 100 B35 2 28 43 63 |M18x15 M8x8 UNI'5929 313 8 153




= 3-3BL SERIES

CENTRIFUGAL PUMPS according EN 733 (ex DIN 24255) STANDARD

3(L)P Series coupling

8 31

O\
\\// 1=

PUMP SIDE MOTOR SIDE

27.3

p24
|
I
|
— = —
|
I
|
2D

DIMENSIONAL TABLE

Motor Dimensions (mm) Motor Dimensions (mm)
Pump type 3(L)P4

3(L)P KW HP Size | Type D H1 H2 kW HP Size | Type D H1 H2
32-12511,1 11 15 80 B3 19 218 6 32-125/0,25 0,25 033 n B3 14 16,3 5
32-160/1,5 15 2 90 B3 2% 213 8 32-160/0,37R 037 05 ! B3 14 163 5
32-160/2,2 22 8 90 B3 24 213 8 32-160/0,37 037 05 n B3 14 163 5
32-20013,0 3 4 100 B3 28 313 8 32-200/0,55R 0,55 0,75 80 B3 19 218 6
32-200/4,0 4 55 112 B3 28 313 8 32-200/0,55 0,55 0,75 80 B3 19 218 6
32-200/5,5 55 75 132 B3 38 43 10 32-200/0,75 0.75 1 80 B3 19 218 6
32-20075 75 10 12 B3 38 43 10 40-125/0,37R 037 05 n B3 14 163 5
40-1251,5 15 2 90 B3 p 213 8 40-125/0,37 0,37 05 n B3 14 163 5
40-125/2,2 22 8 90 B3 24 213 8 40-160/0,55R 0,55 0,75 80 B3 19 213 6
40-160/3,0 3 4 100 B3 28 313 8 40-160/0,55 0,55 0,75 80 B3 19 213 6
40-160/4,0 4 55 112 B3 28 313 8 40-200/1,1R 11 15 90 B3 2% 213 8
40-200/5,5 55 75 132 B3 38 43 10 40-200/1,1 11 15 90 B3 pl 213 8
40-200/75 75 10 132 B3 38 43 10 40-200/1,5 15 2 90 B3 2 213 8
40-200/11 11 15 160 B3 ) 453 12 50-125/0,55R 0,55 0,75 80 B3 19 213 6
50-125/2,2 22 3 90 B3 24 213 8 50-125/0,55 0,55 0,75 80 B3 19 23 6
50-125/3,0 3 4 100 B3 28 313 8 50-160/1,1R 11 15 90 B3 p 213 8
50-125/4,0 4 55 112 B3 28 313 8 50-160/1,1 11 15 90 B3 2 213 8
50-160/5,5 55 75 132 B3 38 43 10 50-200/1,5R 15 2 90 B3 p 213 8
50-160/7,5 75 10 12 B3 38 43 10 50-200/1,5 15 2 90 B3 p 213 8
50-200/9,2 92 125 132 B3 38 43 10 50-200/2,2 22 3 100 B3 28 313 8
50-200/11 1 15 160 B3 Y] 453 12 65-125/0,55 0,55 0,75 80 B3 19 218 6
50-200/15 15 20 160 B3 L) 453 12 65-125/0,75 0,75 10 80 B3 19 218 6
65-125/4,0 4 o5 112 B3 28 313 8 65-125/1,1 11 15 90 B3 2% 213 8
65-125/5,5 55 75 132 B3 38 43 10 65-160/1,1 11 15 90 B3 p 213 8
65-125/75 75 10 132 B3 38 43 10 65-160/1,5 15 20 90 B3 2 213 8
65-160/7,5 75 10 132 B3 38 43 10 65-160/2,2 2,2 30 100 B3 28 313 8
65-160/9,2 9.2 125 132 B3 38 43 10 65-200/2,2R 2,2 30 100 B3 28 313 8
65-160/11 1 15 160 B3 ) 453 12 65-200/2,2 22 30 100 B3 28 313 8
65-160/15 15 20 160 B3 Y] 453 12 65-200/3,0 30 40 100 B3 28 313 8

65-200/15 15 20 160 B3 ) 453 12

65-200/18,5 185 %5 160 B3 Y] 453 12

65-200/22 2 0 180 B3 48 518 14






